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Congruent Triangles #3

Complete the proofs:

1 Given:

and B is the midpoint of ED

E A DU St
Prove: AAEB = ACBD B
(Hint: Draw the information on the picture as you know it.)

statements reasons

E = CB, AB= (D, 1. Gwen
and B is the midpoint of £D

2. BB = DB 2.0k of Midgaiat
. AAEB =ACBD 3.999

A D
2 Given: 4B | BE, DE | BE

and <BAC = <EDC

B E
Prove: AABC = ADEC C

statements reasons

1 . DE L BE, 4C=DC, L Gven
and <BAC = <EDC

2. <B and <E are right angles 2.0 of L

3A (gt angles ase =

4. AABC = ADEC 4 ANG =




[image: image2.jpg]Given: GK = ML, <GKM = <LMK

Prove: AGKM = ALMK

M
statements reasons
1. GK KM = <LMK 1. Given
VK = K 2 8elodve Qogecty
3. AGKM = ALMK 355
s
(®)  Given: <5 =<Rand XT bisects <SXR T
Prove: ASXT = ARXT
R
statements reasons
1. <S=<Rand XT bisccts <SXR 1. Gy
2. <SXT=<RXT 2.0k of angle Wiscctor
: 3. Qefleaw Quagerty
4 4. AAOE
Given: FT = FR and
F
Prove: AFTS = AFRS
statements reasons
1 1. Given

o

2. Reflexive Property





[image: image3.jpg]M, D
6. Given: H is the midpoint of MK and QD

Prove: AQMH = ADKH 1
Q K
statements reasons
1. H s midgaink of Mikavd QD 1. Given
2. MH = Kif and OH = DH 2.0, of widgon
3. <MHQ = <KHD 3:Nwice 22 Theoom
+AQMH = ADKH +9A5Z
5

7 Given: S0 bisects <PSR and <P = <R

Prove: ASQP = ASQR P R
Q
statements reasons
1. SO bisects <PSR and <P = <R L Gven
2. L9502 L1 2. Definition of bisect

3,362

Reflexive Property

4. ASQP = ASQR

8. Given: RT biscets <QR!

Prove: ARTQ = ARTS

statements reasons

1. RT bisects <QRS, <1 = <2 1. Gwen

2. <QR

Ocd. of angle Vo

Reflexive Property
4. ARTQ= ARTS 4 ASA

(over)
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9. Given: TP L 4S, 4
Prove: AATP = ASTP
1. TP L 48, AP = 5P 1. Crvenn

2. <ATP and <STP are right angles

3. AATP and ASTP are right triangles

5. AATP = ASTP

10.  Given: BR and EV bisect cach other

Prove: ABAE

RAV

statements

2.0k of Qurpendicular
3.0 o Bighy triangles

4 Rellexive Riogecty

5 L Thevenn
B E
A
R
reasons

BR and BV Viscek adh oher

2. BA=RA and EA = VA

1. Given

2.0k of Biscctor

!
3. Nuiice myuﬁ Yhezom

43pae =




[image: image5.jpg]11, Given: <2=<3,<l=<4

Prove: AABC =

CDA

statements

reasons

L <2=<3,<1=<4

AABC 2 ACDA

12, Given: <D and <B are right angles, AD

Prove: AABC =

CDA

statements

1. Gen

2. Reflenve Roperty
3LARE

reasons

1. <D and <B arc right angles, AD

C

2. AABC and ACDA are right triangles

C=AC
ABC

>~

CDA

B

L Givens
. ded. of aght Aangles

3. Rekleive. Fropurty

-

WL Thegrom




